100 9#H=, 500 A&, 1000 9= 7F 5 gsto] 127071 912 o,
3700 Y& A Eot= W2 25 2 7HQIVE? (d, 4 ST A Hl=
17] o] Abg-gttt)

@ 3714 @ 47}A ® 5714
@ 6714 ® 7714



Al Aol SR v 4 gl Al A o] A4t mE
2 7EA A7} 6

@ 3 71A @ 4 71A ® 5 714
@ 6 717 ® 7 7H4]

3






X

tob

@

A1)

=
=T

| =

5 g BAC 9 o, "ol
?

©)

N~

@

ool w

ol

=%
rr

| ut

fifok

=~ w



ol

Tor
il
gl

750

18
25

®

16
25

@

o™ |00



BB o
N o FHo

S

— |

a |



7. % 10l 2A9E 9 W) ok 0] 27h 4] 490 51

@ 4714 @ 5744 ® 6714
@ T77HA] ® 8714



@ 24 7} ® 30 7HAl

@® 4 714
@ 60 714

® 124 714



9. A B, C D, E Fo4 o] €d&= 5o]d ofj, A ¢} B 7} ©]235}o]
Me 7% & oY

D 60 @ 120 @ 240 @ 300 ® 360



10. A, B, C, D, E9 5% Z4 D¢ EE HFEA]

Eroeil g, dof

= 3
=

jE

@ 4717 ® 57H4]

® 77HA]

® 37H4]
@ 6714



Al Aol BT A g T2

® 12 7HA]



12.

= ), Z220] 3] Hj

11
D %

@

ot Do

T Ee 7o v 2



13.

@ 0.06

@ 0.09

® 0.12

@ 0.36

® 0.27



14. The DT 2 290 4 7HX A0 2 Fsteli Gt o] ke B
AR e AL ASTHT B ), Asks HEe BE B 7

Bl

D

A
B C D
@® 48 7} @ 36 7H4] ® 32 717

@ 28 714 ® 16 7}4]



15. =27 A7 U Ao 7tE 2 whE 5= e Al Al o] A5 5 210 o4
300 o]otl A4=2] =2

@ 274 @ 374 @ 47 @ 571 ® 671



16. A, B, C, D, E, 5 59 shAjo] Jls5Utt A 7} i ¢Fof] A= -2

P
=7

@ 12 744 @ 24 717 ® 36 7HA
@ 48 717 ® 64 74



17.

A,B,C,D Hl o] FH FolA tiE 272 2w, A7} E3]A] ¢

gE2?

@

N —
S|~
—
[N}
=~ w



ol
e
olJ
o8

olig
Nfo

umo
o
o

oln

@ of® Ato] dofd e pRtal sPH 0 < p <10t

FH 0 < p < 10]th

S

pEal

—

@ A7 AT} o

ot 5

® (A A7F



3 o1y 4o 2719} moFo] 2L 3 T 379t e ol 277} 9
o] FHLoA B @ A A T A AW o), AL Fo] Kol

WS SE2 P57 (9 AW 32 AL Sels



20.

FHYell= w1 5ol 374, Befgo] 570 =01 9laL, B Ty
270, Hel gol 47 59 olet. = FH Yl 5= 42

|
of, W2t 3 10, ek g 1 e $E2?

ol rlr

1 5 1 5 11
el ek o2 o2



